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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
T FEHERE
= 1 500, 713
SRR T
= 1 172, 300
ISR UBE
= 1 172, 300
AR — AR
FRE 5 3, 822 19,110
AR — AR
(&)
FRE 5 5,734 28, 670
FEEREZER
FRE 5 3,511 17, 555
FEEREZER
(&)
FRE 5 5, 266 26, 330
WEEER
FRE 5 2,988 14, 940
WEEER
(&)
FRE 5 4,482 22,410
A SR 2tHE
FRE 5 1,736 8, 680
A SR 458
FREH 5 2,632 13, 160
Ny s (v-v ) AtFE 2.9t
FREH 5 2,948 14, 740
FAM 2000cc
FRE 5 1, 341 6, 705
WEmRE T
= 1 48, 193

-1- E s Abkei )7 &6 R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
5 3 A 2= 1
= 1 48, 193
B MR S (b = b V=) Gr-A-4E
m 10 1,394 13, 940
B MR S (0 = b V=) Gr-B-2B
m 10 1,682 16, 820
[T CREIBT - S574 B IEATH s | P1-1. 1-3. O
m 10 1, 066 10, 660
[T CREIRT - S5 74 B LA s | P1-1. 1-3. 0B
m 10 677.3 6,773
e
= 1 280, 220
Bt fi ek 1.
= 1 108, 880
[FCELR FRE (7 LA Em s
m 20 5, 444 108, 880
RImE T
= 1 171, 340
AR B 5AH
A
= 1 90, 650
AR B 5AH
B
= 1 80, 690
B L
= 1 500, 713
BTl TE:
= 1 181, 019
BTl TE:
= 1 13, 408
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
BUGERRYGEE (K5 1)
= 1 13, 408
HiE R (FE L)
= 1 167, 611
Wi
= 1 681, 732
BTk X=giiv
= 1 507, 622
R 5]
= 1 1,189, 354
— R
= 1 276, 046
W ZRER
= 1 2, 844, 600
T HAlik
= 1 4, 310, 000
THE B 2 %8
= 1 431, 000
TG
= 1 4,741, 000
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HOOflf =%

THEX Sy« TH - FERI - HH50 MoK PO B B G AT & G| T (G E LM
T FEHERE
= 1 45, 049, 156
JE T
= 1 664, 690
I L
= 1 32, 090
I +H
m3 100 320.9 32, 090
FEZEN T
= 1 632, 600
PR (L) B -
m3 100 6,326 632, 600
LR
= 1 1, 251, 460
TA77 v MR EEA & T
= 1 1, 251, 460
NoyFur OERLET 2770 MEA 4 (13FH) &
MA
t 20 62, 573 1, 251, 460
Pk A iE ) T
= 1 1, 038, 550
LI
= 1 1, 038, 550
5 CT-B300-L500
bie 50 2,862 143, 100
5 SG2T-300-1995
bie 50 17, 909 895, 450
fo N
= 1 1, 042, 500
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
fE N
= 1 1, 042, 500
HRHLEEE R 0yl Fa- I %4-200-1.2000
m 150 6, 950 1, 042, 500
5 e At L
= 1 8,937, 400
FEARI B AT 1
= 1 4,775, 050
=8 V= Gr=A-4E(J" =77 79)
m 350 13, 643 4,775, 050
5 1E Al T
= 1 4,162, 350
HRPE (REIKT) B LA P1-1.1-3. OE(}" =77 79V)
m 200 10, 730 2,146, 000
HRPE (REIKT) B LA P1-1.1-3. 0B(} =77 79V)
m 200 9, 568 1,913, 600
EMZARNEEN ¢ 100 L=200
L 15 6, 850 102, 750
TR L
= 1 2, 056, 580
N T
= 1 2, 056, 580
TR VARY VA PANNY VAR G
bie 20 102, 829 2, 056, 580
T A R A% 1
= 1 3, 177, 600
B AT R L
= 1 3, 177, 600
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THEX Sy« TH - FERI - HH50 B PO B B G AT & i i E (A5
AR e e DLSA-5 (= Hdt5A) J i 55
ZN 50 16, 528 826, 400
TR R AT DLSA-5 (27— MaEA (R FLETe)) J
Tl S5
ZN 50 21, 146 1, 057, 300
HLHR 53 AT H=400 w] 282 (ZRFL2C- LAHD)
ZN 30 20, 699 620, 970
HLHR 53 AT H=650 w] 282 (ZR FL2C- LACHD)
ZN 30 22,431 672, 930
AnT=h L
= 1 2, 269, 950
Wik e 1
= 1 2, 269, 950
fEE LA &Y Y 0 AETIE~ RS 0. 25m3
K Vvt hevin kv - 8k
7 B i LR AT
&) 3 756, 650 2, 269, 950
R
= 1 133, 750
AT
= 1 133, 750
TR BCA
m2 500 267.5 133, 750
(LSS
= 1 1, 446, 500
Bty ) -}
= 1 1, 446, 500
FYavy)-h 18-8-40BB W/C=65% t=10cm
m2 500 2,893 1, 446, 500
SRR T
= 1 11, 680, 921
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
ISR UBE
= 1 11, 680, 921
AR — AR
i35 1, 000 3, 799 3, 799, 000
AR — AR
(&)
FRE 100 5, 700 570, 000
FEEREZER
FRE 100 3, 490 349, 000
FEEREZER
(&)
FRE 10 5,235 52, 350
WEEEER
i35 1, 250 2,970 3,712, 500
WEEER
(&)
FRE 500 4, 455 2,227, 500
A SR 2tHE
FRE 200 1,726 345, 200
A SR 458
FRE 100 2,617 261, 700
Ny s (v-v A AtFH 2.9t
FRE 100 2,930 293, 000
FAM 2000cc
FREH 50 1, 333 66, 650
K 7 O £250mm 2 E5HE 10m
H 10 123.7 1,237
TR 3KVA
H 5 556. 9 2,784
WEmRE T
= 1 2,619, 505
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
5 3 A 2= 1
= 1 1, 829, 505
B s (™ —=h v-n) Gr-A-4E
m 400 1,386 554, 400
B s (™ = v-n) Gr-B-2B
m 400 1,672 668, 800
[T CREIBT - S574 B IEATH s | P1-1. 1-3. O
m 350 1,059 370, 650
[T CREIRT - S5 74 B LA s | P1-1. 1-3. 0B
m 350 673.3 235, 655
Pk IE i T
= 1 613, 800
R = ES PUT-B300-1.2000
m 300 2,046 613, 800
T AT R M R A s
= 1 176, 200
HURR S AT A ZEFLEC (LA
ZN 100 1, 762 176, 200
e
= 1 8,729, 750
Bt fi ek 1.
= 1 1, 316, 700
AR BH FRE A7 LA Em s
m 100 13, 167 1, 316, 700
RImE T
= 1 3, 505, 600
AR B 150 A H
A
= 1 2,703, 450
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THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
S i SO
B
= 1 802, 150
RIEE BT
&
= 1 3,907, 450
ZRFE AR B 100 A A
A
= 1 2, 704, 000
AR FE AR B 50AH
B
= 1 1, 203, 450
B T HE
= 1 45, 049, 156
B ST e ¢
= 1 5, 428, 038
B ST ¢
= 1 513,192
BUGERRYGEE (5 1)
= 1 513,192
MR R (L)
= 1 4,914, 846
Wi
= 1 50, 477, 194
BTk X=giiv oy
= 1 22, 302, 470
R 5]
= 1 72,779, 664
— e
= 1 12,901, 661
W ZRER
= 1 20, 508, 675
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Tk
= 1 106, 190, 000
THE B 2 %8
= 1 10, 619, 000
TG
= 1 116, 809, 000
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
T FEHERE
= 1 41, 806, 246
JE T
= 1 666, 480
I L
= 1 32, 180
I +H
m3 100 321.8 32, 180
2N
= 1 634, 300
PR (L) B -
m3 100 6, 343 634, 300
LR
= 1 627, 400
TA77 v MR EEA & T
= 1 627, 400
NoyFur OERLET 2770 MEA 4 (13FH) &
MA
t 10 62, 740 627, 400
Pk A iE ) T
= 1 2,226, 050
LI
= 1 2,226, 050
5 CT-B300-L500
e 150 2, 869 430, 350
5 SG2T-300-1995
e 100 17, 957 1, 795, 700
fo N
= 1 2, 090, 700
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
fE N
= 1 2, 090, 700
HRHLEEE R 0yl Fa- I %4-200-1.2000
m 300 6, 969 2,090, 700
5 e At L
= 1 6,943, 960
FEARI B AT 1
= 1 2, 736, 000
=8 V= Gr=A-4E(J" =77 79)
m 200 13, 680 2, 736, 000
5 1E Al T
= 1 4, 207, 960
HRPE (REIKT) B LA P1-1.1-3. OE(}" =77 79V)
m 200 10, 759 2,151, 800
HRPE (REIKT) B LA P1-1.1-3. 0B(} =77 79V)
m 200 9, 594 1,918, 800
EMZARNEEN ¢ 100 L=200
L 20 6, 868 137, 360
TR L
= 1 1, 546, 545
N T
= 1 1, 546, 545
TR VARY VA PANNY VAR G
bie 15 103,103 1, 546, 545
T A R A% 1
= 1 5, 184, 250
B AT R L
= 1 5, 184, 250
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| i E (A5
AR e e DLSA-5 (= Hdt5A) J i 55
ZN 80 16, 572 1, 325, 760
TR R AT DLSA-5 (27— MaEA (R FLETe)) J
Tl S5
ZN 80 21, 203 1, 696, 240
HLHR 53 AT H=400 w] 282 (ZRFL2C- LAHD)
ZN 50 20, 754 1,037, 700
HLHR 53 AT H=650 w] 282 (ZR FL2C- LACHD)
ZN 50 22,491 1, 124, 550
AnT=h L
= 1 3, 034, 688
Wik e 1
= 1 3, 034, 688
fEE LA &Y Y 0 AETIE~ RS 0. 25m3
K Vvt hevin kv - 8k
7 B i LR AT
&) 4 758, 672 3, 034, 688
R
= 1 134, 100
AT
= 1 134, 100
TR BCA
m2 500 268. 2 134, 100
(LSS
= 1 870, 300
Bty ) -}
= 1 870, 300
FYavy)-h 18-8-40BB W/C=65% t=10cm
m2 300 2,901 870, 300
SRR T
= 1 8,494, 123
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
ISR UBE

= 1 8,494, 123
AR — AR

FRE 800 3,810 3, 048, 000
AR — AR
(&)

FRE 100 5,715 571, 500
FEEREZER

FRE 100 3, 499 349, 900
FEEREZER
(&)

FRE 10 5, 249 52, 490
WEEEER

FRE 800 2,978 2, 382, 400
WEEER
(&)

FRE 250 4, 467 1,116, 750
A SR 2tHE

FRE 200 1,730 346, 000
A SR 458

FRE 100 2,624 262, 400
Ny s (v-v A AtFH 2.9t

FRE 100 2,938 293, 800
FAM 2000cc

FREH 50 1, 337 66, 850
K 7 O £250mm 2 E5HE 10m

H 10 124. 1 1,241
TR 3KVA

H 5 558. 4 2,792

WEmRE T
= 1 3,019, 840
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
5 3 A 2= 1
= 1 2,227, 840
B s (™ —=h v-n) Gr-A-4E
m 500 1,389 694, 500
B s (™ = v-n) Gr-B-2B
m 500 1,677 838, 500
[T CREIBT - S574 B IEATH s | P1-1. 1-3. O
m 400 1,062 424, 800
[T CREIRT - S5 74 B LA s | P1-1. 1-3. 0B
m 400 675. 1 270, 040
Pk IE i T
= 1 615, 300
R = ES PUT-B300-1.2000
m 300 2,051 615, 300
T AT R M R A s
= 1 176, 700
HURR S AT A ZEFLEC (LA
ZN 100 1, 767 176, 700
e
= 1 6,967, 810
Bt fi ek 1.
= 1 660, 150
AR BH FRE A7 LA Em s
m 50 13,203 660, 150
RImE T
= 1 3,173, 380
AR B 140N H
A
= 1 2,529, 940
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THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
S i 10N
B
= 1 643, 440
RIEE BT
&
= 1 3, 134, 280
ZRFE AR B 80AH
A
= 1 2, 168, 960
S i 10N
B
= 1 965, 320
B T HE
= 1 41, 806, 246
B ST e ¢
= 1 5,171, 423
B ST ¢
= 1 484, 970
BUGERRYGEE (5 1)
= 1 484, 970
MR R (L)
= 1 4, 686, 453
Wi
= 1 46, 977, 669
BTk X=giiv oy
= 1 20, 995, 006
R 5]
= 1 67,972, 675
— e
= 1 12, 142, 865
W ZRER
= 1 17, 384, 460
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Tk
= 1 97, 500, 000
THE B 2 %8
= 1 9, 750, 000
TG
= 1 107, 250, 000
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